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Maths Knowledge Organiser

Year 6: Fouwr Operations

Prior Knowledge (v5 unit 3, 5, 7) Structures and Representations Order .of Operations
y l’?ﬁim ’s’fww whole numbers with Far column methods .and short/long division, see below
. Use formal written methods (columnar) ~ ~
* Using rounding 4o astimate and chack Place Vialue Grid [ ¥ ] Fm T [ T TS B Ll R S O
. Add and subtract numhbers = " leeoe
Solve addition .and subtraction multi-step 4 5 a 0 2 2 0 Order 5+22=54+4=9
,p,r,oblzuus
. Decide mhich ations/methods to ;
mw}ﬁ; operations| e Number Line o . o D | Dpivision 10+6+2=10+3=13
. Find all factor pairs of .a rumber, .and _' ' ! ' ' ! ' ! '
gﬂw;jmfﬁﬁ ﬁtqumunbzr/s 50 0 50 M Multiplication |10-4x2=10-8 =2
. l)JEHUS, O. JFW/LU-P/[M/UO
and division, including scaling
simple fractions o Grid Method - Multiplication A | Addition 10 x 4+ 7 =40 + 7 = 47
. Recognise and wuse square numbers and 5,000 200
cube ruumhers , 40 5 _
. R Wm - up o ,q 4‘ 8,000 | 1,200 160 ‘ 20 | S Subtraction 10+2-3=5-3=2
/8\ Add .and Subtract Whole Numbers Multiply up to 4-Digit x 2-Digit
— N Column Methods Long Multiplication
L4 5 8 6 4 Sktarting with the ones, | | | |
> add, maﬁcff ' e TEa et T S SR St ,a,dxizg,ch,ool,umnm 1z Z | Starting mith the
S sum, ifferernce turn. tens, .
ot | R N R A T 1514 7%
> producl, approximation 6 0 3 6 1 o thousands as L, I5hx 6=924
> divide, division rod. % 2 6
3 hertliony diision I requir 154 x 20 = 3080
> factor, multiple 3080 + 924 = 4004
> divisor, dividend, 9 2 4
N - 1 M Te 120 1 Starki ith the ' ' ' m The green rzero is a Lder
> ffmng[mw% 3 5°7 }( 2 /s,u,b,tr,a,ctjgxch ,oomm 3 08 which shows that in the second
> Jswmerator, denominator ' 1 ' ' turn. Exchange tens, half of the calculation, we are
3 4 7 6 ‘hundreds, thousands 4 0 0 4 multiplying by 20, not 2.
and/or ten thousands 1 1 24
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Factors, Multiples & Prime Numbers

Squares and Cubes

Factors of 48

Divide 4-Digit by 2-Digit Numhbers
4 | /-{!:I.J:s:-r.:-." Ll L 6
2 4+ 4 = é"“‘--q_'Li-r_';-T:Q."IT B2 4
\ dividend /
Short Division
Start from the left.
'4'4'0,5'5+12-Or5
| — =— 52+ 12 = 4 rh
12|52 8 6 0 ,g.12-4
6+12=0r6
Lo. Division
" 0321
Tx14 =14 14 41(98
4 4
2xld =28
" 42 ||
3x14 =42 0 2
4x14 =56 38
-14

Square numbers result from a number
being multiplied by itself (e.g. 5 x 5 = 25):

1,4,9,6 16, 25, 36, 49, 64, 81, 100

Cube numbers result from a number being
multiplied by itself twice (2 x 2 x 2 = 8):
1, 8, 27, 64, 125

Multi-step Problems, Estimate, Check

) One drink costs £1.67 and I buy & ) IfIpay

with a £20 note, how much change will I get?

20- (4 x £1.67)

Factors are whole
1| 213|468 (1216|2448 numhber that can
multiply by other
Factors of 30 whole ruumhers to
make the product.
223 5|6 10]|15]30]
Common factors: 1, 2, 3, 6
Multiples of 3 A multiple is a
number which
3 .. |18 121 | 24| ... | 39 | 42 can be divided
Multiples of 7 number w.ithout
7 | 14 [ 20| 28 | 35 | 42 | -*‘emainder.
Common multiples: 21, 42...
A prime number is a whole number greater than |
12| 3 | 4| 5| 6| 7| 8| a]|Ii0 |
1|12\ 13 | 14| 15| 16 | 17| 18] 19 20 2 s the only
PJVZI‘L,PI;UT\Z
21| 22| 23] 24| 25| 26| 27| 28] 24| 30 b,
There .are no
31| 32| 33 |34| 35| 36| 37| 38| 39| 4O arime .
L | 42| 43 | b4| 45| 46| 47| 48| 49| 50 that end in 5,
except for 5.
51| 52| 53 | 54| 55| 56| 57| 58| 59| 60 The. digi
6] | 62| 63 | 64| 65| 66| 67| 68| 69| 70 car’t add up
to 3, except
71|72 73| 74| 75| 76| 77| 78| 79| 80 s
81| 82| 83 | 84| 8| 86| 87| 88| 89| 90
91192 93 |94| 95| 96| 97| 98| 99100

F167 + £1.67 + £1.67 + £1.67 + £1332 = £20

30,1 27+2,95 3
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